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Write the place value of 7 in the following numbers.

a. 5627 b. 7564 c. 6274 d. 5786
Write numeral for the following.

a. Six thousand thirty nine e 0039
b.  Eight thousand six hundred fifty five ...
c. Ninethousandnine
d. One thousand five hundred sixty nine  ...........cccocoiiiiiiiii,
e. Seven thousand seven hundred seven .............cccccoeiiiiinnnnn...
f. Five thousand six hundred seven ...

Write number name of the following.

a. 6242  Sixthousandtwo hundredfourtytwo . . .
D BT e
e 2990 e
e 3500 o,
. 7358 e,
f 0808 .
Arrange the following in ascending order.

a. 1028,1105,1209,1280,1092 ..1028 1092 1105 1209 1280
b. 5637,5671,5730,5736,5627 ......... R R R e,
c. 1890,1870,1865,1857,1899 ......... R e R e
d. 7210,7319,7918,7818,7650 ......... R e, R R
e. 8582,8681,8918,8490,8680 ......... R e, R R




Arrange the following in descending order.
6890, 6840, 6850, 6842, 6799
5850, 5818,5228,5762,5907
6009, 6820, 6985, 6090, 6906
1742,1792,1825,2109, 2104

d
b
C.
d
e 9126,9770,9216,9249,9491

Teey

........ 7

6890 .6850 6842 6840 6799

........ ) ccsecsce) sesessnes

Use the symbols <, >and =among the following numbers.

d.
C.
e.

g.

Write the following in standard form.

- 0 o 0 T o

3218 | < 3315
1364 1326
8718 8611
1120 1195
3512 3502

3thousands 8 hundreds 4 tens 2 ones

5thousands 5tens5ones

8thousands 7 hundreds 6 tens 4 ones

b.

d.
f.
h

J-

8thousands 7 hundreds 9 ones

8thousands 5 hundreds 2 tens 2 ones
6 thousands 6 hundreds9tens 1 ones

Write the following in short form.

a

a
b
C.
d.
e
f.

5000+500+20+1
8000+300+50+5
2000+200+2
6000+9
1000+750+20+1
9000+900+90+1

5521

1575
9716
1090
1525
8511

1575
9711
1096
1588
8501
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a. 3 P b. 3

P _E/ 4

v g

9. Convertthe following.

a. 1lkm1l18m= m b. 6380m = Km m

c. 3m50cm = cm d. 6m20cm= cm

e. 475cm = m cm f. 375cm = m cm

g. 8kg350g = g h. 6kg500g = g

i. 4500g = kg g j 7559g = kg g

k. 2¢250m¢ = mt 1. 3325m¢ = 0 ml
10. Fillin the blanks.

a. Thereare ............... pin< 2.

b. Thereare .............. 50 p coinsin< 10.

c. Thereare ............... 5rupees coins in< 40.

d. Thereare .............. 25pcoinsin<5.

e. Thereare ............... 5rupees coinsin< 50.
11. Solveusing addition, subtraction, multiplication and division.

p f;/ T P

25 25 144 75 154 46 719 74
+35 20 + 75 25  + 36 27 + 1353 35
[ ) | ) ) ]
Eyj T p f£) T P g/ T P JL/ T P
250 60 148 56 130 94 250 00
-~ 5010 - 59 89 - 30 94 - 75 00
[ ) ) ) | ]
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| .)
iy J ? J ’\' J : f P
° 16 76 232 26 324 24 70

3

J 3 J < J 3 J 3 P
2)122 32 8§)728 64 9)189 81 6)126

12. Write the time from the following clocks.

a.. b.. C..

............... o'clock viereenn..0'clock viveienn.....0'clock
d. | e. | f. |
............... o'clock vierverinn...0'clock viveinnn....0'clock
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13. Fillinthe blanks.
a. Thereare............... daysinayear. e
b. Thereare............... monthsinayear.
c. Thereare............... daysinaleapyear.
d. Februaryhas............... daysinaleapyear.
e. Novemberhas............... days.

g. Fridayis............... day of the week.
h. Junehas.............. days.
14. Write the following in words.
3 4 8
a. — b. — c. —
4 S5 10 ..
d. & e. 1 f. &
8 8 10

15. Write the followingin figures.

a. Six-tenth ... b. Seven-eighth ............
c. Three-fifth ............ d. Two-third  ............
e. One-fourth ........... f. Two-fourth  ............

16. Solve using addition, subtraction, multiplication and division.

ykmmykggymcmylml
79 120

12 238 13 350 18 250
+ 5 360 + 18 750 + 8 660 + 7 250
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17.

18.

19.

20.

21.
22.

23.

ejkmm ./ m cm ykgg h.] ¢ mt

35 250 36 296 54 156 25 750
— 19 568 — 29 658 - 50 152 - 19 672

i. / km m j.j ke g k. ¢ me I.j m cm
11 151 19 218 35 246 18 188

mjm cm  n. |k oj ke g p.| ¢ mi

m m
7)49 98 3)72 729 6)112 126 9/108 819

:

Raman bought 1 kg 500 g mangoes and 2 kg 750 g mangoes. How much
fruits did he buy?

Reeta has 15 m 25 cm of cloth. She used 13 m 10 cm of cloth. How much
cloth leftunused?

Peter needed 1.75 ¢ milk in one day. How much milk was needed in a
week?

There were 6550 children in a school. 4010 were boys. How many were
girls?

Add 1885 and 1565. Then, subtract 1175 from their sum.

There were 3350 guavas produced in one garden and 6218 guavas
producedinanother. How many guavas were produced altogether?

There were 8025 soldiers in one army camp and 5058 soldiers in another.
How many soldiers were there altogether?
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24,

25.
26.
27.
28.
29.

30.
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On holiday, 1725 men, 1152 women and 1519 children visited the IS
Science museum. How many people in all visited the museum on ‘
holiday?

The total age of Peter and his father is 69 years. If Peter in 18 years old,
find the age of his father.

There are 10029 cement bags in a warehouse. 8512 bags are taken out
forconsume. How many are left?

There are 12 pencils in one packets. A shopkeeper has 80 such packets
his shop. How many pencils does he have in hisshop?

A gardener distributes 1062 mangoes to the children. If he gives 9
mangoes to each child then how many children get the mangoes?

6 toffees can be packed in a packet. How many packets are needed to pack
480 toffees?

A shopkeeper has 85 boxes of chocolates. If each box contains 6 chocolates
then how many chocolates are there in all?



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

